Chapter 14: Integration
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53. No, F(y) - G(x) might be a nonzero constant.
54 ; d x x x X
. A, F(A)=—(xe )=_re ter(=e'(x+1)
dx
b.  There is only one.
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b Becagse an antiderivative of the derivative of a
function is the function itself, we have
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Section 14.3

Principles in Practice 14.3

. N(@)= j‘;—]fdi': j(800+200e')dz

=800¢ + 200 + C
Since N(5) = 40,000, we have

40,000 = 800(5) +200¢° -+ C, so
C = 40,000 (4000 + 20095)

=36,000-200¢° ~ 6317.37
N(t) =800 +200¢' +6317.37

. Since y" = ;-i(y') =84r+24

2
= [(84¢ + 24yt = 34[%J +2414C

=426% 4 2414 C
Since y'(8)=289] , we have

2891=42(8) + 24(8) + C; = 2880 + G, so
Ci =2891-2880 =11, and 3 =4d2:2 4 2dr 411
o= [ydr= | (42;2 +241 41 l)dt
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=140 4120 111+

Since y(2) = 1835, we have
185=14(2)° +12(2)% +11(2) + 0
=182+Cy,50 C; =185-182 =3

YO =142 4122 £ 110+ 3




